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> “XXX'declare but never used ZEXXXDEE X{EMNKHIT.

‘XXX'is assigned a value which is never used 2B E XXX EIR{EEMNKH T

> Code has no effect TP &HEEE LRREH A,

* Non-portable pointer conversion AEH e, W] gERAEMN %R
?"‘%E‘Jﬂﬁﬁm T — AN HEoREUE .

> Possible use of ‘XXX'before definition FIERFFH T RB{EKZE
> Redeclaration of ‘main’ —NEEF XA H B Emain AN 1E—1,

> Suspicious pointer conversion R] SRR, WM T HARR
AUCRCHIPEET -

s Uﬁreachable code FEFEEHANREPRATRIFCHY,
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> Compound statement missing } in function main FEF&RRDIHES ).
“Vexpected;  “("expectedd R EERJEEHAVIMEILIEE BERD )y “ (7,

Xt RTEL

> Case statement missing " switchZ5 ¥ H ) FA case Z JaR/DE 5.
> Constant expression required & X EUZHMN 8 € KA KBEA R F BERIEK,

> Declaration syntax error Z5 F KRB &Y E‘J%XF 7

> Declaration was expected #RZDULEH, WH

K| ARk 2> 90 F-FF

ESFHEER.

> Default outside switch DefaultBE43 3| T switchZh 1) 2. 4,

LWITE{ RSt

> Expression syntax RIAFIEER . WMFRIAKF

> Extra parameter in call ‘fun’ i & funft 45 H T 2 KRKLS

meEs. 5. A
— A2

> do statement must have while doiﬁ@ o 2D A5 N B while 3B 49
3ﬁ€ﬁAé@% S HFF

> Case outside of switch case A& T Switch&4hify, 2 H T switch% P HI1ETE S AR/

E[Iﬂ

W SPER iR= 2 NN
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> Function should return a value BREUNZIRFl—AME, BN 5 e X E) 3R RIA

ULEC.
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> Tllegal use of pointer TeEH 4 AEIET| H ‘_‘ﬁﬁﬁm T ARERfREHE R

> Invalid pointer addition 8%
{EFASTRETASRERRIN .

FRINAEE

—MREH bk W RAA— AN EEEAR N,

> Lvalue required WR{EIZH KD RAREFHEHRIARK.
> Misplaced else F2RFE3] | A ECA Helse

> No matching FIAFH H)FESAERT

> Pointer re%4J uired on left side of > fE “ >"IEBHEHBAEBRERTF—NIeE T AR

_.,/\,_.

MR RIS RN,

> Statement missing; FEFFIER] [ JRHEAH 75 HIER].

> 'Too few parameters in call i FHIEA R I LS4 H A9 .

> Unable to open include file " XXXXXXXX. XXX SkXHIRAZ|.
> Unexpected }B:EL{ FEAHERMGER T IE: {.

> Undefined symbol ‘X'in function fun B & fun H)ZEEXE A E L.
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ooie) 22 IREEm]
— EEEEIA
1y | FEE3lcpp T

1 #include | m=1EM

2 1I'It 'Fun(l Package Manager

36 {
4T return i*i;
5%}
6 int main()
2. EFRGRFERRIEIN

pp

fincl
.nt 1

.nt n

FESEEN
ERIR AR
TDM-GCC 4.9.2 64-bit Release

FER ABEAi BR B

v i i

TP

W ¢
A @ 2
.7"“»4...\-' g
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3. B HIAREE Ayes

EESEED
ERFELE
TDM-GCC 4.9.2 64-bit Release

e ABEiite B B

CERE B4R AEEE ABtss EEE o
E5E Objective CEERE

FEREREEE

JMERIRERRE N (system startup) 3{FEE

T EiEdlasl

FERITmEE

v W

Mo w
Yes w
T .
Mo w
Mo w




1. FRIET =

Devc++iiR 5 ¥

2. FiiAiR

e

~  manmaswe sevumavans 38 {
2 int fun(int 1) 4 return i*i;
30 { 5L
4| return i*i; 6 int main()
78 {
5 -} . 8 int n,m,sum=0;
6 int main() 9 scanf("%d",&n);
784 1
8 int n,m,sum=6; 115 1{ _
o scanf("%d",&n); 1; I ;} sum=sum+fun(i);
P or e ioticniy /ST
ITHE { 15 return o;
12 é sum=sum+fun(i); 16 -}
13 | }
14 printf("%d\n",sum);
15 return @;
16 L }

Deze = dhss08s B @ esss § =3

B EITEEA] T—s5N] BTIS) == | B
w e || EEcuEdy || SEmAn BT @ BB [@
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3. MTRFAXEL A

Z 1NnT TUN(1NT 1)

3H {
4 return i*i;

5%}

6 dint main()

7H{

8 int n,m,sum=8;
9 scan : 8

_ for(int

i=13i<=n3i++)

12 § sum=sum+fun(i);
13 }

14 printf("%d\n",sum);
15 return 8;

16 L }



*

w *
/

FEAEZLLK G

University of Science and Technology of China

Devc++iiR 5 ¥

4, FMEEFNXE

1 #include <stdio.h>
2 int fun(int 1)

38 {
4 return 1*1i;

5-1

6 int main()

78 {

8 int n,m,sum=0;

9 scanf("%d",&n); >
18
1168 { TR
12 | sum=sum+fun(i); Jsurl
13 | } i
14 printf("%d\n",sum);
15 return 9;
16 L }

wE dh &2  BE O gees %] =3

FhaEEal || T BhTIs] T mmy | HESSEIGDE: |displayi
P BEcPUBON || ESEAL BLTEER BENBEE (gdb)

-»-=prompt
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Devc++ifE 5

5. METEMTEL

+ v | REEElcpp

1 #include <stdio.h>
2 int fun(int 1)

36 {
4T return i*i; TRpEEE

6 int main() F5 FaEiEIR
;E { int n,T,EI:.:lm=B_; F7 Eﬁiﬁﬁt (iﬁﬁ—F—i)
1; t=n;i++) F8 EBREARLAIL
E T { sum=sum+fun(i); FO 1L
13 _ ;rintf(“%d\n",sum);
15 return 6;
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AR HIL

#include<stdio.h>
void main()
T BB {
float x,y;
1/x X0 printf("input x:\n");
_ scanf("%f",x)
) ‘{ if(x!1=0)
0 x=0 y=1/x;
else
y=0;

printf("f(%.2f)=%.1f\n" x,y);
}



mEEE &&= i 1029.cpp

1 #include<stdio.h>

oMvoid main(])

38 {

O 00 ~N Oy U1 B

(=Y

w
[

—t

vold main [}||

float x,y;
printf("input x:\n");
scanf("%f",x)
if(x!1=0)

y=1/x;

else

y=0;

printf("f(%.2f)=%.1f\n"

oo ®FE ¢ G =2E d &30+ « B O 228 =]

T A
2 11
T 4
4 4

L=y

F\Dev-Cpp\Mystudy\ 1029.cpp
F\Dev-Cpp\Mystudy\1029.cpp
FA\Dev-Cpp\Mystudyh 1029.cpp
FA\Dev-CppMystudy 1029.cpp

=8

[Errar] :main’ must return ‘int’
In function "int main()":
[Error] expected ' before 'if'

[Error] "else’ without a previous 'if’

3 X))

&)
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#include<stdio.h>
void main()

{

Int I,sum;
for(i=1;i<=100;i++)
sum=sum-i;

printf("sum=%d\n",sum);

}
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1 #include<stdio.h>
2 int main()

31

w

int i,sum;
for(i=1;i<=100;i++)
| sum=sum+i;

Eprintf("sum=%d\n",sum);
return 0;

O 0~ Oy 1

10
11
12

[
e

i | F\Dev-Cpp\Mystudy\1029.exe

SLIM= o

l'l after 0.01874 seconds with return walue 0

F'r
=E dh 9B
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ﬁﬁﬁ)ﬁ?ﬁﬁj 2:

HEER ZEE Bl 1029.cpp

e 1 #include<stdio.h>
2 int main()

4 int i,sum;

5 for(i=1;i<=100;1i++)

6 | sum=sum+i;

7

8 printf("sum=%d\n",sum);
9 return 0;

11

00 =z [ =E dh &% « B [Q 2528 ]

o I FNEEA TN BLIS) T mm | RESOHIG0R: [diplay sum
® =T EECPUELON] BRI BT EEEY HAER -»->display-end
THE: | V| -=-=pre-prompt

(gdb)
‘ | -=->prompt
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#include<stdio.h>
int main()

{

}

int i,j,sum=0;
for(i=1;i<=1000;i++)
Lij<=ij++)

for() =

}

return O;

if(i%] =

}

if(sum==

O ¥RAZLLX S

.R“' University of Science and Technology of China

=0}

sum+=j;

}

)i
printf("%dE—45E&\n",i);
//ETRITENENEF

// ...
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\— S
%55& ;4§i=3 1 #include<stdio.h>
| FHD&v Cpp‘\Mystudy‘ﬂDEQ exe % Js.jr-::ﬂ, 2 int main()
4 int i,j,sum=0;
ifter 0. 02674 seconds with return wvalue 0 &% 'Fﬂl‘(i=1_;i< l1088: i++)'[
- L] for(j = 1;j<=i;j++){
7E | if(i%j= 6){
B i=0 1 #include<stdio.h> 8 | | sum+=7j;
B, 2 int main() o )

36 { 10 }
4 int i,j,sum=0; 11H 1f(sum =i){
5 12 prlntf("%d"—”‘ ﬁ\n"
6 for(j = 1;j<=1;3++){ 13 /1 BT E HTAT
7E if(i%j==0){ 14 //
8 | | sum+=7j; 15 + }
9t } 16 }
10 } 17 return 96;
11H] if(sum==1){ 18 - }
12 ; printf("%dit— P& \n",1 - -
13 | /) 7S E AT 1
14 //
15 }
16 |- }
17 return 9;

18 L}
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BATER:

rroc with return walue 0

é....@,ﬁ:z 1 #include<stdio.h> %J; 1 ﬁlnclucflastdlo.h}

Bis' ) 2 int main() {Gam=: 2 dnt main()
36 { e
4 int i,j,sum=0; 4 int 1,7,sum=8;
3=l for(i=1;i<=1000;i++){ < for(1=1;1<=1600;1++){
6 sum=0; z T
7E for(j = 1;j<=i;3++){ 'FE j = 1;3<=1;3++){
BE  if(i%j==0){ B if(i%j==0){
® > I
10 | } 16 r }
11 } 11 } _
12 H if(sum==1i){ 12H ;11:(5”"1:.:1){,, - W .
13  printf("%dAt—AEBN\n",1); Le - printf("RdE A 5ER\n", 1) ;5
14 /)L T E AT 7 14 /1 e | IARTT T EHTA 7
15 I 15 /AN
16 } 16 - }
17 } 17 }
18 return 8; 18 return ©;
19 L 1 19 -}
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3-3

tinclude<stdio.h>

#include <math.h>

int main ()

{
float d = 300000, p = 6000, r = 0.01, m;

m = loglO(p / (p - d*r)) / loglO(l + r);
printf("m = %3.1f\n", m);

return 0;



#include<stdio.h>
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3-0

int main ()

{

char ¢l = "¢, ¢2 = *"h', 3 = "1', 4. = "n', €5 = ‘a';
cl =cl + 4;

c2 = c2 + 4;

c3 = c3 + 4;

cd = c4 + 4;

cS = c¢cb5 + 4;

/ /{EMputcharigity

printf ("f§Efputchariity: ") ;
putchar(cl) ;
putchar(c2) ;
putchar (c3) ;
putchar(c4) ;
putchar (c5) ;

printf ("\n");

//fEBprint it
printf ("{EMputcharfitt: %c%c%c%c%c\n", cl, c2, c3, c4, c5);

return 0O;
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#include<stdio.h>

int main ()

{

rieat h, v, 1, s; s4, Vg, VZ;
float pi1 = 3.141526;

printf ("BWMAEFRr, BESL: ") ;
scant ("%t f", &r, &h):

1 =2 * pi*r;

s = r*r*pi;

sq = 4 * pi*r¥r;

g = 3.0 4.0%pixrrrrr;

vz = pl*r*r*h;

printf ("EFEHEA: 1=%6.2E\n",
printf ("REIEFRA: 5=%6.2f\n";

printf ("EBERERRA:
printf ("[EEAFRY:
printf ("EEARR:

return 0;

sg=%6.2f\n",
v=%6.2f\n", vq):
vz=%6.2f\n",

FEBEZLLK S

University of Science and Technology of China

/ /EBXRBNEF R AEES
/ /TEEREKL
/ /ATEEERS
/ /TTEEBGRERsq
/ /T EEBARR v
/ /T EEE ARz
1);
S);
sq) ;

NVZ)is
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{

iRt %X, Y

scanf s ("%d", &x);

e 2 < 1Y) i
y = %;

}

else 1if (x >= 1 && x < 10) {
y=2* x— 13

else {
Vo= 3 & x— 1l;
}
printf("y = %d\n", y);
system ("pause") ; //IX—AEA T 1HEHIENERH

return 0O;



$include <stdio.h>

int main ()

{

int score;

printf ("enter score:");

scant s("wd", &score);

if (score >= 90) {
printf ("A\n");

lJelse if (score >= 80 && score < 90)
printE ("BAn");

Jelse if (score >= 70 && score < 80)
pEIREE("CNRY);

lelse if (score >= 60 && score < 70)
prinLE ("DNRY);

lelse {
printf ("EXRY);

}

system ("pause") ;

return 0;

HEBMELLKE
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{

{

{



#include <stdio.h>
4_9 (1) int main ()
{

int num;

) FRAZLLX S
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printf ("enter num:");

scanf s("%d", &num);

if (num > 99999 || num < 0) {
printf ("IBHIAO~99999ZBIRYIEE\n") ;
return -1;

t

if (num >= 10000) ({
printf ("5\m") ;

}Jelse if (num >= 1000) {
printf ("4\n");

}Jelse if (num >= 100) {
printf ("3\n") ;

}Jelse if (num >= 10) {
printf ("2\n") ;

lelse {
priatf ("INa") ;

1

system ("pause") ;

return 0O;



#include <stdio.h>

4_9 (2) J;nt main ()

int num;

FEAZLLXS
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printf ("enter num:");

scanf s ("%d", é&num);

if (num > 99999 || num < 0) {
printf ("IBHIAN0~99999ZBRYEIZE\n") ;
return -1;

}

if (num / 10000 > 0) {//ERHALEF
printf("sd ", num / 10000) ;

}

if (num%10000 >= 1000) {//BGR10000METLABHRIUAZA9EEE, BRLAL00OISEIFAIAIEF
printf("%d ", (num % 10000) / 1000);

}

if (num%1000 >= 100) {//BEGR1000MATLABRMER=(A0EEE, BRUAL0ONERIERIAYEF
printf("sd ", (num % 1000) / 100);

}

if (num%100 >= 10) {//BUR100MATLABREARAAVERE, FRLALOMISEIHZAVE=
printf("%d ", (num % 100) / 10);

}

if (num%l0 >= 0) {//BUR1ONMENHNMIEF
printf ("%d ", num % 10);

}

prratE("\a"™) ;

system("pause") ;

return 0O;



4-9 (3)

finclude

<stdio.h>

int main ()

{

int num;

printf ("enter num:");

scanf s("%d", é&num);

if (num > 99999 || num < 0) {
printf ("IEEA0~99999ZEAVEZF \n") ;
return -1;

if (num % 10 >= 0) {
printf("sd ", num % 10);
}
if (num % 100 >= 10) {
printf("sd ", (num % 100) / 10);
}
if (num % 1000 >= 100) {
printf("sd ", (num % 1000) / 100);
}
if (num % 10000 >= 1000) {
printf("sd ", (num % 10000) / 1000);
}
if (num / 10000 > 0) {
printf("sd ", num / 10000);
}
printf ("\n");
system ("pause") ;

return 0O;

FEAEZLLK G
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tinclude <stdio.h>

4-10 (1) ?n't satn(

double I, salary = 0;

LR LRSS
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printf ("enter performance:");
scanf_s("@lf", &1)»
if (I < 0) {
printf ("IEWMA—DIES\n");
system("pause");
return -1;
}
double salaryl = 100000 * 0.1;//10889Rs
double salary2 = (200000 - 100000) * 0.075 + salaryl;//200f9%&
double salary3 = (400000 - 200000) * 0.05 + salary2;//40FMRE
double salaryd4 = (600000 - 400000) * 0.03 + salary3;//e0BRERE
double salary5 = (1000000 - 600000) * 0.015 + salaryd;//100809&E
if (I <= 100000) {
salary = I * 0.1;///VF1000008%1 0%486%
jelse if (I > 100000 && I <= 200000) ({
salary = salaryl + (I - 100000) * 0.075;//H10580REHTE, NE1owAYERS
jelse if (I > 200000 && I <= 400000) {
salary = salary2 + (I - 200000) * 0.05;//2H20P09EHEhTE, NL2owiSRE
jelse if (I > 400000 && I <= €00000) ({
salary = salary3 + (I - 400000) * 0.03;//ZH40PELLHRTE, N ELa0wRIERES
Jelse if (I > 600000 && I <= 1000000) {
salary = salary4 + (I - 600000) * 0.015;//BHeoFaNRLARTE, N LeowliRS
jelse if (I > 1000000) {
salary = salary5 + (I - 1000000) * 0.01;//28H100ARLARTR, NL1oowiiERE
}
printf ("salary:%f\n", salary);
system ("pauze");

return 0;



4-10 (2)

¢inc

113

de <stdio.h>

int main()

{

double I, salary = 0;
rintf ("enter performance:"™);
scanf_s("&1lf", &I);
if (I < 0) {
printf ("ISWA—PIES\") ;
system("pause");
return -1;

)
double salaryl = 100000 * 0.1;//XKF10000080~1000000 RS
double salary2 = (200000 - 100000) *

double salary3
double salary4d
double salaryS
int grade = I / 100000;
switch (grade) |

case 0:

salary = I * 0.1; break;
case 1:

salary = salaryl + (I - 100000) * 0.075;
case 2://SFRTEIF—breailb

case 3:

salary = salary2 + (I - 200000) * 0.05; br
case 4:
case 5:

salary = salary3 + (I - 400000) * 0.03;
case ©:
case 7:
case 9:

0
[
%]
"
w0
.

salary = salaryd + (I
default:
salary

€00000) * 0.015;

+ (I

10000CG0) * 0.01;

I
(0]
1l
[
a
[

<
o

]

printf("salary:%f\n", salary):;
system("pausa");

return 0;

0.075 + salaryl;//KF2000008f0-20 0RNRE
(400000 — 200000) * 0.05 + salary2;//AKF4ccoooRfo~40 RS
(600000 — 400000) * 0.03 + salary3;//ATFenoonoffo~c0HRNES
(1000000 - 600000) * 0.015 + salaryd;//XKF1c

LR LRSS
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#include <stdio.h>
int main ()

{
int p, r, n, m, temp;

printf ("IBEIARNIEEE N, m:"

-
~—
N

scanf ("%d3d,", &n, é&m):;
//ﬁ%n{%?_ﬁjcﬂ’ﬂﬁ
if (n < m)
{
temp =
n = m;
m = temp;
}

p:n‘km;
while (m != 0)

{
r =n % m;
n =m;
m = r;

t

printf ("EfJNRARLIEA:2d\n", n);

printf ("BiINSRNAEEII:%d\n", p / n);

return 0;

) FRAZLLX S
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ginclude <stdio.h>

5—4 int main()

{

LR LRSS
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char c;
//TEMeng char NENFEBINE, PEER0
//EX space_char ASEFFINE, YEaERO
//BMdigit charSEEFFANY, ¥aER0
//EMother charSEMEFRAINE, ¥EET 0
int eng_char = 0, space_char = 0, digit_char = 0, other char = 0;
printf ("IEMA—ITFF: ");
while ((c = getchar()) != '\n")
{
1f (c>= 'a' & c <= '2! |) ¢ > 'A' & c <= '3")

eng char++;
}
else if (c == "' ")

space char++;

9]

}
else if (c- >= '0' && <= tG')
{

digit_char++;
other char++;

printf ("RIEFEHE : 2d\nSIEEUR  2d\n#FER 2 a\nHIBFFTEUR : *d\n", eng char, space char, digit_char, othsr_char);

return 0;



#include
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M
"ok

<stdio.h>

int main{()

{

/2R BNEF, bRATIEF, KRBT
int a, b, c;

for (int i = 100; 1 <= 999; i++)

{
a =1/ 100;
b= (1/ 10) % 10;
c =1 % 10;
if (a*a*a+b*b*b+c*c*c==1)
{
printf ("sd\n", 1i);
t
}

return 0;



int main()

{

FEAZLLKG
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int data, fator, sum; /* dataTneFEeE, fatorF/EREAF, sunFEREFZHI/

for (data = 2; data <= 1000; data++)
{
/L EFRBRRERET, FRLAEFZHMMN1IFFE
sum = 1;
for (fator = 2; fator <= data / 2; fator++)
{
/* FlifrdatafEEB W catorBiR, BNEatorIARF BEFFEREES */
if (data % fator == 0)
{
sum += fator;

}
/1 FENEREETEFZM +/
if (sum == data)

{
printf("sd its factors are 1, ", data);
for (fator = 2; fator <= data / 2; fator++)
{
if (data % fator == 0)
{
printf("sd, ", fator):

1
)
i

printf£("\n");

}
return 0;
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#include <stdio.h>

int main ()
{
int day = 9;

int prev day count;

int cur day count = 1;

while (day > 0)

{
prev day count = (cur day count + 1) * 27
cur day count = prev day count;
day--7;

}

printf ("total count : %d\n", cur day count);

return 0;



